FEWwRhl4A~3A]

RAFEETHRE 4 E (ke) RSEEM I #E (kg) AR E #1EF = (ke) AP 73R (%)
Ll (A) (B) (B)-(A)=(C) (B)/(A) x 100-100=(D)
w48 781,330 746,030 -35,300 —4.52
Z |.5H 887,830 868,360 -19,470 -2.19
# | 68 816,390 865,590 49,200 6.03
g 78 883,700 882,970 -730 -0.08
|88 987,190 942.420 —44,770 —4.54
4 [ 98 879,110 807.460 —71,650 -8.15
g 108 818,180 853,460 35,280 431
¢ [11H 808,860 777,190 -31,670 -3.92
128 887,160 823,130 -64,030 -7.22
318 815,190 807,140 —8,050 ~0.99
B 2A8 663,620 693,010 29,390 443
38 782,200 692,450 -89,750 —11.47
&ai 10,010,760 9,759,210 -251,550 —2.51
iy 834,230 813,268 -20,963 -
4H~3H]
RAFEERKRC#E (ke) ROFEEHEKRC#E (ke) HXCHIERE ke) KEH %
# (A) (B) (B)-(A)=(C) (B)/(A) x100-100=(D)
X 4R 56,435 58,450 2,015 3.57
= |58 141,260 120,630 —20,630 —14.60
# | 6H 177,665 158,565 —19,100 —10.75
=278 9,260 6,670 -2,590 —27.97
| 88 76,117 71,400 -4717 -6.20
4 |28 189,535 178,590 —10,945 —577
o 10H 53,370 54,380 1,010 1.89
¢ 118 41,230 42,010 780 1.89
128 216,048 213,075 -2.973 -1.38
3 [1H 96,550 99,720 3,170 3.28
B 2A 76,765 79,610 2,845 3.71
38 126,200 115,730 -10,470 —8.30
&t 1,260,435 1,198,830 -61,605 -4.89
T 105,036 99,903 -5,134 -
g BERH[4A~3H]
7 RAFEESYIAR—1I—E (ke) RSEESYHXR—/—E (kg) SYHRAR—IR—EFE (kg) SYHAR—IR—ERE (%)
7 (A) (B) (B)-(A)=(C) (B)/(A) x 100-100=(D)
z 48 45,301 46,038 737 1.63
~ [ 58 34,160 35,840 1,680 492
| LeA 33,990 29,010 -4,980 -14.65
5|18 36,500 33,590 -2910 -7.97
| .88 36,250 33,680 —2.570 —7.09
=[98 32,100 32,270 170 053
= [10H 36,282 31,810 —4.472 -12.33
~[11A 34,940 33,434 -1,506 -4.31
4 128 41,050 38,650 —2.400 —5.85
f‘ | 18 39,061 41,610 2,549 6.53
28 32,490 30,340 -2.150 —6.62
3 38 33,730 44,450 10,720 31.78
B &t 435,854 430,722 -5,132 -1.18
iy 36,321 35,894 —428 -
BWRml4A~3H]
z RAFEZT DTS E (ke) REEEZ DTS E (k) ZDMTSERE (ke) Z DT SERFE (%)
o) (A) (B) (B)-(A)=(C) (B)/(A) x100-100=(D)
t | 48 32,450 32,641 191 0.59
5 58 29,480 31,245 1,765 5.99
Z 68 30910 27,030 -3,880 -12.55
2 18 32,650 31,130 —1,520 —4.66
£ [ gH 32,900 31,760 -1,140 -347
—~| 98 28,145 30,883 2,738 9.73
4 108 31,928 27,748 -4,180 -13.09
B [11A8 28,977 28,010 -967 —3.34
s 128 29,187 28,120 -1,067 -3.66
3 18 31,060 32,330 1,270 4.09
g [28 26,893 25,580 -1,313 -4.88
—| 38 24,810 30,050 5,240 21.12
&t 359,390 356,527 -2,863 -0.80
D] 29,949 29,711 -239 -
_ ] HERH(4A~3AT _
RAFERRIE (ke) REEER RIS (ke) ERERE (ke) ERMIERE (%)
& (A) (B) (B)-(A)=(C) (B)/(A) x 100-100=(D)
- 48 177,901 172,046 -5,855 —3.29
458 185,802 204,847 19,045 10.25
[ 6R 180,525 152,198 —28,327 —15.69
2| 78 149,988 149,714 -274 -0.18
—~ | 8H 190,870 179,161 -11,710 —6.13
4 [9H 161,691 149,317 -12.374 -7.65
B [10H 170,874 195,627 24,753 14.49
s (118 232,699 186,455 —46,244 -19.87
3 [ 128 171,600 171,675 75 0.04
A 18 171,974 159,765 ~12.209 -7.10
— | 2R 146,214 143,450 —2.764 —1.89
3H 163,613 145,258 -18,355 -11.22
&ai 2,103,750 2,009,512 -94,239 -4.48
iy 175,313 167,459 -7,853 -




